MO N0 NN IN? XY

10T IR KD

7000 Y9 EYAND 70N IR 12371 BYplan nwibem TnR R Yo T

5 %v M ortmibn orreaabnd TVl ar TI3) T mTme 5-4 ,novhaIR”
NIRIIWN™Y "DYINeD 7193 M1T¥PINGY) TID02¥ nYINRD DYPNOR IV (11D W (O
0" nr RYIAY 0ONTA L,N10n S 07219 pradea 1vrTY nYRdn) (Univhneeanary
Y 2197Y 107 mann R L0070 RYY L nbaam nraar mithma by
L2TN MRNIAY Toma

,JIPHOTIN IMINA PIan MR DYEDIIN BYINR MnaY L pran Yo oaxp Ren 1had
PR ORYNINY DYYYINN 1IN .12 DYYYAIND DYYAINN MITTN'A IR DA DADIAN 1IN
LANXY mMamny ooty 1Yea M omanrintan rat

2790 _1Rn

T00N-TNAY ARTLUAMMN NYI0IM AD TY YH931 ’RYY L,uIn ke RIN MY M
5 »Twabny ™VI'e RIM LAY AR'Ia Fan TAY) heTha nraoann ab LD IdTmn
‘ LPPE 14 iarMIan Ten .Taba T

57y Yo ;A 11n1h RINAY 7D L,N0 Y LTINYhh mana "Yaya Mavh” N1 ar pha
Yea1anh 1 LvRIHD A1pa TR aTYY Lein x Y Inox ,ax 1120 MIEpI
2WMD NP*Y NAvIn ar P02 L 11aenna wneab PRI AN L,119RN PYYT MW
SRP1I2 TYOOM DY 1M NIYM WM 1aand Mep MM paYAn LR ITEN

nOR uroaem S oniaden  LPRINAN TR vawvnd 1nbYonay H1n vawna Yrnm paan
paan 9% ,mar@n AP n1in pYvaenn Mv Yv nTIv'a  .ONY¥Y 191 BTMYY
maryan Pra JTmarn mYiaat phaa ik naowma rab Taby tmiYrro vt
» 10¥Y MNI52 0N MR rhend nvpny KY Manhe nraab 9y obhiv L,IRY ReY 0w
< 'Ynma 'nba maovn -y

£ M3pna Yu n abym %re miYra n ar prnd uraIvNR DY AVINA ThR
ot = 1 TRy L(7910-71R0D NY0 1o Yranh) a aTip: avap nmann
1190 011918 10Y .2 aTIpaa £ YT IRIYYD Arpn RYR 1R ar miavhia
*3 ,Tmbnn TMY Brreyn nraIwIn I L YaRI*Sn 21pa avin YB nanaa NIn




R .01279a0 Y9 anYyn MR pYhrTan end L5955 qaTa ,nhw avvvpm g1y
vawnn Mon LNIMTY Y0 vawvn Y qnnona YAl n*1 219'ND MRYAY
AN2IT MR 1°20nY DYNYID IR L1 NNYY MbYn praa TN XB1IN RN

TRY 71 RYaNY 130 AnoYAn AR . JNana AP Y IRT oy R ,ana
»0OUNN MMIYI?T IR A0YD o0 TYabmhe

:mn 1Yo vaenb prrIpYYn pMYYYN

abynn MY D117H18 MYNNRA PRIAND YN PIYT WOD Y aoavn .R
sNIVM

<IN P17 MDY p13YDIa YO abynn medn LA

NYR 11°8® ,110173 Y9 DY1van HYenb ,nr801) WUMIP?? DYIITYY BYhram
NPTHR NPRP11S Yo MYre mahia

nYVAAN MR IND DIPYINN IR LMDV MY wTPIND §2°YDa DYhon Phan
LAmana YYna vnba R0 11T L(NTIRER 219N) DY I90n




AP0 N0 - YNN OO

26.2 'yl

x'-i1;3 s ol
x = /173, [0,1] .a

x=1/4 .2 =x,% 2.5 .x .8

26.4 q'yul

Y(z) =80 x' -6 .8 .l
y(3) = 240x?
Y(Z) = 'i‘%‘ «d
(3) 6
T
S 1 ,
4(1 - :t:):;:2
(3) 3

y ey
8(1 - x)s z

¥ -

cos?x -7

(3) o 2 cos’x + 6sinx
cos'x

y(2)

1
alial= L

y(3)

x_l ~N

y(2) = e .1




My =D ("

o4

N ]
n = 4k oR0 ,cos(“)(x) = o8 X .3

n=4k +1 v ,cos(n)(x) = - gin x

a =4k + 2 T9R2 ,cosn(x) = -co8 X

n= 4k + 3 10N ,cosn(x) = gin x
26.6 q'yoY

:gn n TToR nvmathian .1

(x - 1)  a(x - 1)* + e(x ~ 1)*

P(x) = e +e(x - 1) + e

2 + 31 &1 R
P(x) = 1/2 - éi (x - %/3) -~ 15_57%421: + f; (x - ;{3). .
(x - »/3)"
+ w7y
x? 3Ix*

P(x)-l+x+-2—!--—l7r '
P(x) @ 1l « (x=1)+(x=-1)2=(x-1)2+(x-1" .7

(x) = T+ (x-2) .n
'z .

2
3 15
- (x - 2) + (x - 2)? - (x - 2)*
8/2.21 32/%.31 128/7+41

{x 1In 2)2 + (x In 2)? . (x 1n 2)*

P(x) = 1 + x 1n2 + 71 AT )




Px) = =45 (- afe) + D4 (Ko w/OR
/3 3/3

16 (x ~ n/6)* + 32 (x ~ v/6)"
3 3! 73 41

P(x)-1n2+%(x-2)-7‘—.—;—!(x-2)'+

Z%ET (x - 2)! - E%ZT {x - 2)*

P(x) = 1+ nx + M2 D) o0, 0l - D(n - 2)

a{n - 1}(n - 2)(n ~ 3) X

4)
P,{x) F,(x) sin x X
0.19866 0.2 0.19866 0.2
0.2955 0.3 ) 0.2955 0.3
0.3893 0.4 0.3894 0.4
0.564 0.6 0.5646 0.6
0.7146 0.8 0.7173 0.8
0.83333 1.1 0.8414 1

a . _ y0
P(x)=ea+ea(x—a)+ea.(_x_‘_zl_aL'_+"_+e (x a'

n!

n n
P(x) =1 ~(x-1)+(x- 1) =-(x-D*+ ...+ (1) (x~ 1)
(n-1)/2 .n
P(x) = 1 -’;—:-+% - ...+ 20 = . S R A )
{n-1)/2 n-1
x? x* {(-1) X _
(n-1}/2 n
P(x) = x - ’;—: + %;— + ...+ 20 = S aarr-OR 1 ERD
{n-2)/2 n-1
x--’;—;+“§;+ ...+('1)(n_ 1);x AT 0 RD

+

R

e

A

T

)

0

2

4




2 L] _ n-1n
P(x)-x-%—+’;—-:—:+ ...+$—l)n—-x— «N

Px) =1 -(x-2 +(x-DF-(x-2"+ ... + (-D"x -

n-1
] s ? =5
p(x)-x-§—+’;—-—’;—+...+(-1)2 % YANT-'R N DR .Y

n—-.z. n l
N LIS S 14 oy 2 JE .
P(x) = x 3 + 5 7 + .ee + (=1 * T *AIT N ON

P(x) = 2x% + 4x? + 5x + 1 N .5

26.9 qryod

—————

2 ] ]
P(x) -l+x+’—‘2-|-+%!—+’-zl— (1 .1

7 .m (1)
1.648 .3
0.375 .2
0.7163 .7

1.97 n mwop avvaen R (111)
0.00043 n nivp NRravn .2
0.008 n NIvp NNMAYM .2
0.000035 n mMuvp nRvavn .7

"ﬁ""— (1) -2

x 3

sin 0.2 0.1986 .8 (11)
sin v/5 0.5878 .1
sin 15° 0.2588 .2

sin (-n) 10 =-0.3090 .7

2.54 x 10077 n niop anmaen WR (114)
7.67 x 107 n mivp mwawa .2
1.67 x 100 n niop mvasn .2

-5.99 x 10°° n niop merawn .7

(x - D, x- D' _(

P(x) = {x -1) - 5 )

x - "
A + (1) .3

(x- 1% _ (x-1)¢
* 5 . 6

{
- /




0.18232 .» (41)
“0-35643 «d

-5.6 .a
0.3463 .7

1.8x 10°% p nop anvavn  Wn (111)
3.8x% 10°% MILp Artaen .2
18.3 n mivp nncawn .3
2.98 x 1074 n nop anvawn L7

2
cos(0.4v) 0.2106 , P(x) = ] - g— R

cos(0.4%) 0.3076 , P(x) = 1/2 - 13(x - "/2) _ (x - I/a)! o

0.3145 »n nivp arvaen 'n mMpna  .2A
0.0015 »n nvp nR*awn 'a Mpna

14 abyon miavhis et 493p L5
.7 nYpan m1Ya Je

9 abwnn wia'Yia In(l1.5) Y .6
5 abynn n11°%18 1n(0.8) 113y

n n-3 3
a

(a-b)"aa b+ .u. 12

n-1 n, n=-2 2 n
-na b+ (2)a b™ -~ (3)

+ (_l)n nabn--l + (_l)n+lbn

26.11
FEs s lmxtxt o xt 4 ek (D " 4 L. 2 3
i i 7=l - x4 xY - xt 4 L+ (_l)nx2n + ...
1/2 x _x* 3 .,
(1 + x) 1+ 7 "% et 2

06 =0 -0.0Y3 ¢.800 .7

/0.6 = 0.8434 112tnnay




e 713,57 4-5 ,mMaa%k 1Y mripy "aIpn

6t + 7 5"y 6t - 7 DIpna haona -5 'w 82
.83 Troyh 0Y*hiwn hayn DR navh ;82

-9 'v B4
0Y77¥R

qanInn N3¥AN 01hh YA ey Sy 5 'p 86

. JMIn vway YHa%a niraama

b + bc + bd bIpna haona :'h-5 'n 86
.b2 + bc + bd Yy

130 Yy 0 p N3 DIpBa @16 'h 88

. /5 mon

L010-71R D% Bh DN pinnd ;15 'h 88

- 1 papna n3wpa :19 'n 89
:'1=-24 'nh 90
(m + 2)x mpna :'1-28 'n 91
o(m+ 12)x Sy

:13-30 'n 91
.x2 - k My
'w 92
v 93

*agn bra%yem DYYIIAID aDIN

WX = 1 5"y x2
A4 5"y y b

k2 -k DIPDI 170 HaRa

LAx Yy 2x oipna -3
ayY1ap Y 1Invb qon ¢ 11
{(3,5) ; (-5,-3)1

.y2 Sy y pypna :4
LN9yN0 I SMY a1 vnnn

.25 2 7YYy 2577 papna 8
L370 5"x 250 papna :7 'h 96

INYY Dradtan *3W cqrbInd 14 'h 96
LN R3Y3Y hya

B 1 A 1" phh :gq¥03hb 16 'n 97
.n'"y 291 KIn

v 94
oipna

'w 94

LIB00 5"y 4000 bypna .17 'n 97
L1312 92 81 pipna 3% 'h 99
5% 3 anTh Nind bapna -1 'w 99

. 5% 2 qhaa anra noion HMy

.hne 5"y 593 oapna 2 'w 100

'ny
|Dy
'ny

In”

lny

Iny

'ny
ny
ny
ny

Iny

lny
In”

!ny

lny
|ny

lny

lnp

fny
In},
Inp

tny

oy n1x’wu nvn:: 0Ippa :3 'n 4 'ny
¥»v0b 2°h33
.(xl,yl) buy (xlyl) u1vn: 6 ' 7 'ny
Y0V 5Y Naw bpna @1 'e 10 'y
Yy 1'9-5 'n 16 'ny
3y + 22 = 3
{ -9y + 5z = -9
Zx + 3y + z=10
LATDYY D"y q0v1 DIpBa @15 ‘v 17 'ny
.07%on0 By mrboynn 0PNl -2 'w 17 'ny
L0130 2y 5%Nn DIpRa 1 'w 18 'ny
s 7,8, VY z = DM :7 'w 21 'ny
LNANRY 3"Y nawnb.0Ipnay 14 'w 21 'ny
JINRIYD TIRN ATRa bR 9 'w 22 'ny
.70 7103 Bh g0
Jome HM¥ Sonvad pagma 119 'e 22 ‘ny
<1190 5ayha ax0h e vnea -1 'w 27 'ny
LA 9 Mah DYPna -4 'w 34 'ny
.A={ 5w {A= bpippa :-8 'w 36 'ny
L2783 MY aN) 0pna -4 '® 36 'ny
L2 5% b opna -1 te 38 'ny
X =1 9"y y =t 01pma :5 'h 40 'ny
.nrunn Sy uvwnn'u1pn: :3 'w 44 'ny
.0797¥0 79N ATIRPY qban -10 'R 46 'ny
.(1,5) %"y (4,5) mppa :15 'v 64 'ny
y81n9 1 950nh DIpNa :'N17 'h 73 'ny
NTYIVR NTIBYAT AY7I9R AN A¥Yona
. -1 5"y
BYY%ww hayh B0 qDIn (2 ‘v 80 ‘ny
81 Tinyn pYT?IWA YA ;N1IBH §Iba
.30 pI*Y
Ly 1Y nar :9 'w 81 'ny

st(-l/x+3/12)



. i ¥t ol Sttt B .1 ERRE R R

TaR RYA POYION PN VIO 133
.AB yopb ryynn

3R YA 3% y a vy iovw 134
«(x,y) "% (y,x) bwpna ,AB yop5 >ywmN

2ax + xz bipna :15 'e 134
'y
faN2 YRYHPA NANBH 1D 117 'w 134
.p2 - q2 NI0 Dadmh ; + NIR Spw

.p2 - q2 R nadnn 19 'w 134

RYYAS D3N "hbBYLRYA 0w 135

»B 1 hawar x h Y by 1roTmv Sayn

« +9 My =25 pipma :-7 'w 136

<21 5"y 31 Dipnd -6 'w 137

Ty >y r2 Dypna :9 'v 138
.|AF2|,|AF1| Yy :11,10 'w 138
.(-2,0) nmpia Fy avwh 1orvve 138
+N32N3 DY NAD 4w 140

«C Y b PR ON*373 adnn -6 'w 141
TgMmh Mad Aoy Hvyun nans 1145
DINX b
' 146
z=T1cos 9+ 1isine 0Ipna :5 'v 147

23X + az

L1MPYNA 5TY YNwTRY mapBa -2

z=rcos @ +irsine Sy

LI00h hX phn :1 'w 148

Z = w+ ti bYpna :11 'vw 150
22w+t Oy

Sv Sxnv qana mapn Y53 :8-12 'vw 152
.12 5"y 2 Dipna mnriema

. =4z 5"Y +4z DM :-6 'w 154
2195 5"y 1vdoanh ppey 12 'w 155
NN adIN M1 2I0YH HANY 7 'v 156
.5 bMan

.2y 5"y Sv bpna :-8 'w 156

.(2) 10 orahien nayn oon :9 'e 157

78

lny

lny

Iny

Iny

Iny
lny

ny
"ny
ny
‘ny
‘ny
ny
ny
'ny

lny
lny

Iny
lby

lny
In:'
lny

Iny

Iny
lny

. d+c> 05y -1

.c 5Y¥ 0 Dwpna :3 'w 103

.C 9"¥ 0 DYpma :8 'w 103

. t/c/a Yy :3 'w 104

Y V¥ g DRy -7 'w 104
S35 npaxia owpna -2 'w 104

(0,6) nx nnrara abhh :bIvAY 105
.(6,0) nMy

/3 5"Y y/x bipna :6 'w 107

C = (0,2) "¢ :12 'w 107
.D = (0,-2) »

DAR DR Y'Y 5185% ranR :-1 'w 108
,DONN NAIP MDD 233 ,NIRYIEEN

'v 102

2"¥ SnYra ranrh QAR
+bvx%/aZ-1
.2a 'Y amieh nrenna 4 ‘e 111
D?317NRA DYWMIBh hende 2,3 e 112
/1 - a!/xz :oh
a2 x2
) 'y E,-n1pn: =5 g 112

=5 'p 110

LR N1YHhY 9y yabnh :vibhw 113
2y DINNRA 1YIPTPY L0vY¥Y DRYh
03102580

.Y, 1 ¥, oramd n72nn :1phh VIGYY 114
.IBC| Ym¥yr |AC| Y™¥ :-3 ‘e 114
J|AB|- 5w :3 rw 115
bDYpna YNne faNa :-7 te 116
2 2
(x; +y)" + (x5 + y,)

2,2, .2 2
Bty txry;

oy
«1,0,T 5" 1,1, mypna 3 'n 118

A= (0,2) "y :42 'n 124
125
126

132

.mx.+ n 2"¥ mxtn DIpna :51 'n
LAYy 5"y T¥YN DAPNA :56 'n

A(0,a) 'y A(a,0) DIpRa MYy

'y
ny
"By
'ny
ny
"ny
'ny

lny
Iny

lny

lny

In’
Iny

lny

Iny

ln’
ny
lny
lny

ny
"ny
By
‘ny
ny




. (3) Ryn o»*,enh nyn habp =5 ‘e 157 'ny
. (3) nyhywn hayh R0 OIT A -1 'w 157 'ny
LJOronas My¥nrat ok phn 3 'h 158 'ny

huy 429 'n 162 'ay

LNINYIR DR BME pavvap Sw bapna 34 'h 163 'ny

Jhonbn heydw av1v 1wIvs ¢ -3 IDYDR

P a



